

Contract ID	Estimate Number	Pay Period Start	Pay Period End	Created Date	Estimate Type
190430-A01	0005	July 1, 2019	July 15, 2019	July 16, 2019	Progress

### **Prepared For:**

Phillips Hardy, Inc. 15290 Highway 135 Boonville, MO 65233 (573)447-8074FAX

### Prepared By:

Maryville Project Office 28320 250th Street Maryville, MO 64468

This Estimate

Contract Info	ormation
---------------	----------

Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J1S3339	FAF-118-1(8)	Debris removal	118	HOLT	from Route 111 to Bridge over Little Tarkio Creek
J1S3340	FAF-118-1(9)	Emergency repair	118	HOLT	from Route 111 to Bridge over Little Tarkio Creek

Original Contract Amount	Net Change Order Amount	Current Contract Amount	% of Current Contract Amount Complete	Original Completion Date	Current Completion Date	Actual Completion Date
\$2,386,028.12	\$0.00	\$2,386,028.12	47.26%	July 17, 2019	July 17, 2019	

#### Storm Water Information

Project Number	Authorized Acres	Open Acres	Disturbed Acres
J1S3339	9		9
J1S3340			

Contract	I otai	Pay	For	Estimate	No.	005	

190430-A01					
	Total Earnings	\$563,783.62	\$871,914.17	(	(\$308,130.55)
	Total Adjustments	\$0.00	\$0.00	\$	\$0.00
	•	\$943,981.58	\$864,384.67		
				Contract Total Payable This Estimate:	\$79,596.91

Previous

Approval Date		By User
July 16, 2019	Generated and Approved (and should be considered Draft) at the Project Office Level by	dahlt1

To Date

Revision 02/05/2019 Page 1 of 6



Contract	: ID	Estimate Number	Estimate Number Pay Period Start Pay Period End		Pay Period End	Created Date	Estimate Type
190430-A01		0005	July 1, 2019	July 15, 2019		July 16, 2019	Progress
Approval Date					By User		
July 16, 2019	Reviewed	d and Approved (and should be conside	evel by	jacobl			
July 17, 2019		Reviewed and Approved at	greggd1				

1S3339		To Date	Previous	This Estimate	
	Participating	\$321,729.93	\$267,792.83	\$53,937.10	
	Non-Participating	\$0.00	\$0.00	\$0.00	
	Total Earnings	\$325,325.93	\$267,792.83	\$57,533.10	
	*Stockpiled Materials* *Stockpiled Materials are included in the F	\$0.00 Participating or Non-Participating amounts*	\$0.00	0	
	*Line Item Adjustments*	\$26,889.20 Participating or Non-Participating amounts*	\$0.00	\$26,889.20	
	Contract Adjustments	\$0.00	\$0.00	\$0.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damages	\$0.00	\$0.00	\$0.00	
	Overrun Adjustments	(\$6,443.20)	(\$70.00)	(\$6,373.20)	
	Totals:	\$325,325.93	\$267,792.83	(\$0,010.20)	
			Project Total Payabl	e This Estimate:	\$57,533.10
J1S3340		To Date	Previous	This Estimate	
	Participating	\$242,053.69	\$604,121.34	(\$362,067.65)	
	Non-Participating	\$0.00	\$0.00	\$0.00	
	Total Earnings	\$618,655.65	\$596,591.84	\$22,063.81	
	*Stockpiled Materials*	\$0.00	\$0.00	0	
	*Stockpiled Materials are included in the F		4000 -0- 0-	4-0-00-00	
	*Line Item Adjustments*	\$764,562.75	\$226,735.67	\$537,827.08	
	Contract Adjustments are included in the	Participating or Non-Participating amounts*	\$0.00	\$0.00	
	Contract Adjustments Incentive	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damages	\$0.00	\$0.00	\$0.00	
	Overrun Adjustments	(\$195,379.60)	(\$88,201.44)	(\$107,178.16)	
	Totals:	\$618,655.65	\$596,591.84	(+111,1101)	
			Project Total Payabl	. This Fatherston	\$22,063.8

### **Contract Adjustment**

Revision 02/05/2019 Page 2 of 6



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Created Date	Estimate Type
190430-A01	0005	July 1, 2019	July 15, 2019	July 16, 2019	Progress

No Data Available

#### **Line Item Adjustment**

No Data Available

**Exceptions (Discrepancies) This Estimate Period** 

Discrepancy / Exception Description	User	Status
Estimate Exception Type: Item Overrun: Contract 190430-A01, Contract Project J1S3339, Project Item Line Number 0030, Contract Line Item Number 0030, Item 6161005, Minor Item.	dahlt1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 190430-A01, Contract Project J1S3340, Project Item Line Number 0130, Contract Line Item Number 0130, Item 4013000, Minor Item.	dahlt1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 190430-A01, Contract Project J1S3340, Project Item Line Number 0160, Contract Line Item Number 0160, Item 6131014, Minor Item.	dahlt1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 190430-A01, Contract Project J1S3340, Project Item Line Number 0170, Contract Line Item Number 0170, Item 6161005, Minor Item.	dahlt1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 190430-A01, Contract Project J1S3339, Project Item Line Number 0070, Contract Line Item Number 0070, Item 8051000A, Minor Item.	dahlt1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 190430-A01, Contract Project J1S3340, Project Item Line Number 0120, Contract Line Item Number 0120, Item 4011209, Minor Item.	dahlt1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 190430-A01, Contract Project J1S3340, Project Item Line Number 0110, Contract Line Item Number 0110, Item 3049910, Minor Item.	dahlt1	Acknowledged

**Items Paid This Estimate Period** 

Project No.	Line No.	Item Code	Description	Unit Price	Unit	Quantity Overrun Adjustment	Previous Total Paid Quantity	Current Quantity ( This Estimate)	Quantity to Date	Amount This Estimate
J1S3339	0010	2029907	MISC. CONSTRUCTION AND DEMOLITION DEBRIS REMOVAL	\$26.00	CUYD	0.00	17.50	0.00	17.50	\$0.00
	0020	2029907	MISC. VEGETATIVE DEBRIS REMOVAL	\$25.50	CUYD	0.00	6,816.15	416.20	7,232.35	\$10,613.10
	0030	6161005		\$7.00	SQFT	-10.00	286.00	0.00	286.00	\$0.00
	0040	6161009		\$12.00	EA	0.00	2.00	0.00	2.00	\$0.00

Revision 02/05/2019 Page 3 of 6



**Items Paid This Estimate Period** 

### **Missouri Department of Transportation Contractor's Pay Estimate Summary**

Contract ID	Estimate Number	Pay Period Start	Pay Period End	Created Date	Estimate Type
190430-A01	0005	July 1, 2019	July 15, 2019	July 16, 2019	Progress

Project No.	Line No.	Item Code	Description	Unit Price	Unit	Quantity Overrun	Previous Total Paid	Current Quantity	Quantity to Date	Amount This
						Adjustment	Quantity	( This Estimate)		Estimate
J1S3339	0050	6161025		\$15.00	EA	0.00	100.00	0.00	100.00	\$0.00
	0060	6181000		\$120,000.00	LS	0.00	0.75	0.25	1.00	\$30,000.00
	0070	8051000A		\$2,820.00	ACRE	-2.26	0.00	6.00	6.00	\$16,920.00
J1S3340	0080	2031000		\$21.50	CUYD	0.00	1,079.00	0.00	1,079.00	\$0.00
	0090	2071000		\$450.00	STA	0.00	49.15	49.15	98.30	\$22,117.50
	0100	3049910	MISC. ROCK FILL	\$86.50	TONS	0.00	88.58	0.00	88.58	\$0.00
	0110	3049910	MISC. TYPE 1 AGGREGATE	\$53.50	TONS	-2,435.17	2,098.00	0.00	2,098.00	(\$53.69)
	0120	4011209		\$125.00	TONS	-69.26	316.00	0.00	316.00	\$0.00
	0130	4013000		\$110.00	TONS	-505.55	1,626.00	0.00	1,626.00	\$0.00
	0140	4071005		\$5.00	GAL	0.00	234.00	0.00	234.00	\$0.00
	0160	6131014		\$4.00	LF	-169.00	9,826.00	0.00	9,826.00	\$0.00

\$7.00

\$12.00

\$15.00

\$169,000.00

0.00 Total Amount of Items Paid this Estimate - \$79,596.91

0.00

0.00

0.00

274.00

120.00

2.00

1.00

\$0.00

\$0.00

\$0.00

\$0.00

### Total Paid / All Items / All Estimates

6161005

6161009

6161025

6181000

0170

0180

0190

0200

Project No.	Category	Line No.	Item Code	Description	Net Change Order	Bid Quantity	Unit	Quantity to Date	Unit Price	Amount Paid to Date
J1S3339	0001	0010	2029907	MISC. CONSTRUCTION AND DEMOLITION DEBRIS REMOVAL	0.00	2800	CUYD	17.50	\$26.00	\$455.00
	0001	0020	2029907	MISC. VEGETATIVE DEBRIS REMOVAL	0.00	11200	CUYD	7,232.35	\$25.50	\$184,424.92
	0001	0030	6161005		0.00	286	SQFT	296.00	\$7.00	\$2,072.00

SQFT

EΑ

EΑ

LS

-22.00

0.00

0.00

0.00

274.00

120.00

2.00

1.00

Revision 02/05/2019 Page 4 of 6



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Created Date	Estimate Type
190430-A01	0005	July 1, 2019	July 15, 2019	July 16, 2019	Progress

Project	Category	Line	Item	Description	Net	Bid	Unit	Quantity	Unit Price	Amount Paid
No.	Category	No.	Code	Description	Change Order	Quantity	Offic	to Date	OTHE T FIGG	to Date
1S3339	0001	0040	6161009		0.00	2	EA	2.00	\$12.00	\$24.00
	0001	0050	6161025		0.00	100	EA	100.00	\$15.00	\$1,500.00
	0001	0060	6181000		0.00	1	LS	1.00	\$120,000.00	\$120,000.00
	0001	0070	8051000A		0.00	6	ACRE	8.26	\$2,820.00	\$23,293.20
1S3340	0001	0800	2031000		0.00	1079	CUYD	1,079.00	\$21.50	\$23,198.50
	0001	0090	2071000		0.00	98.300	STA	98.30	\$450.00	\$44,235.00
	0001	0100	3049910	MISC. ROCK FILL	0.00	944	TONS	88.58	\$86.50	\$7,662.17
	0001	0110	3049910	MISC. TYPE 1 AGGREGATE	0.00	2098	TONS	4,533.17	\$53.50	\$242,524.60
	0001	0120	4011209		0.00	316	TONS	385.26	\$125.00	\$48,157.50
	0001	0130	4013000		0.00	1626	TONS	2,131.55	\$110.00	\$234,470.50
	0001	0140	4071005		0.00	268	GAL	234.00	\$5.00	\$1,170.00
	0001	0150	6123000A		0.00	2	EA	0.00	\$250.00	\$0.00
	0001	0160	6131014		0.00	9826	LF	9,995.00	\$4.00	\$39,980.00
	0001	0170	6161005		0.00	274	SQFT	296.00	\$7.00	\$2,072.00
	0001	0180	6161009		0.00	2	EA	2.00	\$12.00	\$24.00
	0001	0190	6161025		0.00	120	EA	120.00	\$15.00	\$1,800.00
	0001	0200	6181000		0.00	1	LS	1.00	\$169,000.00	\$169,000.00
	0001	0210	6206000C		0.00	9826	LF	0.00	\$0.06	\$0.00

Revision 02/05/2019 Page 5 of 6



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Created Date	Estimate Type
190430-A01	0005	July 1, 2019	July 15, 2019	July 16, 2019	Progress

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

<u>i iiiatik</u>	JII DCIOW	inio inie io ouppienientai to tile	Louinate and	IS DIOV	idea it	<u> </u>	<u>mation</u>	OI UELAI	<u>i, iocalio</u>
Line No.	Item Code	Description	Location	DWR Date	User ID	Qty	Unit	From Station / LogMile	To Station / LogMile
0020	2029907	MISC.	Rte. 118 Westbound	7/2/19	whitej	139.65	CUYD		
		Rte. 118 Various Locations Eastbound & Westbound	7/3/19	whitej	99.75	CUYD			
			Rte 118 Eastbound and Westbound	7/9/19	whitej	176.80	CUYD		
0060	6181000	MOBILIZATION	Rte. 118, 50% Of Original Contract Amount Earned.	7/9/19	whitej	0.25	LS		
0070	8051000A	SEEDING - COOL SEASON MIXTURES	Rte 118 Eastbound and Westbound Slopes	7/9/19	whitej	8.26	ACRE		
0090	2071000	LINEAR GRADING CLASS 1	Rte. 118 Shoulders and Slopes.	7/2/19	whitej	49.15	STA		
0110	3049910	MISC.	Rte. 118, Eastbound and Westbound 4 Foot Aggregate Shoulder See Comments	7/1/19	whitej	1,733.82	TONS		
		f	Rte. 118 Westbound 4 foot aggregate shoulder. See Comments	7/2/19	whitej	269.51	TONS		
	0020 0060 0070	Line No.         Item Code           0020         2029907           0060         6181000           0070         8051000A           0090         2071000	Line No.         Item Code         Description           0020         2029907         MISC.           0060         6181000         MOBILIZATION           0070         8051000A         SEEDING - COOL SEASON MIXTURES           0090         2071000         LINEAR GRADING CLASS 1	Line No.         Item Code         Description         Location           0020         2029907         MISC.         Rte. 118 Westbound           Rte. 118 Various Locations Eastbound & Westbound         Rte 118 Eastbound and Westbound           0060         6181000         MOBILIZATION         Rte. 118, 50% Of Original Contract Amount Earned.           0070         8051000A         SEEDING - COOL SEASON MIXTURES         Rte 118 Eastbound and Westbound Slopes           0090         2071000         LINEAR GRADING CLASS 1         Rte. 118 Shoulders and Slopes.           0110         3049910         MISC.         Rte. 118, Eastbound and Westbound 4 Foot Aggregate Shoulder See Comments           Rte. 118         Westbound 4 Foot Aggregate Shoulder See Comments         Rte. 118 Westbound 4 foot aggregate shoulder.	Line No.         Item Code         Description         Location         DWR Date           0020         2029907         MISC.         Rte. 118 Various Locations Eastbound & Westbound         7/3/19           0060         6181000         MOBILIZATION         Rte. 118, 50% Of Original Contract Amount Earned.         7/9/19           0070         8051000A         SEEDING - COOL SEASON MIXTURES         Rte 118 Eastbound and Westbound Slopes         7/9/19           0090         2071000         LINEAR GRADING CLASS 1         Rte. 118 Shoulders and Slopes.         7/2/19           0110         3049910         MISC.         Rte. 118, Eastbound and Westbound 4 Foot Aggregate Shoulder See Comments         7/1/19           Rte. 118         Recomments         Rte. 118         7/1/19	Line No.         Item Code         Description         Location         DWR Date ID         User Date ID           0020         2029907         MISC.         Rte. 118 Westbound         7/2/19 whitej         whitej           Rte. 118 Various Locations Eastbound & Westbound         Rte. 118 Fastbound and Westbound         7/9/19 whitej         whitej           0060         6181000         MOBILIZATION         Rte. 118, 50% Of Original Contract Amount Earned.         7/9/19 whitej           0070         8051000A         SEEDING - COOL SEASON MIXTURES         Rte 118 Eastbound and Westbound Slopes         7/9/19 whitej           0090         2071000         LINEAR GRADING CLASS 1         Rte. 118 Shoulders and Slopes.         7/2/19 whitej           0110         3049910         MISC.         Rte. 118, Eastbound and Westbound 4 Foot Aggregate Shoulder See Comments         Rte. 118         7/2/19 whitej	Line No.         Item Code         Description         Location         DWR Date         User ID         Qty           0020         2029907         MISC.         Rte. 118 Various Vestbound         7/2/19         whitej         139.65           Rte. 118 Various Locations Eastbound & Westbound         Rte. 118 Various Vestbound         7/3/19         whitej         99.75           0060         6181000         MOBILIZATION         Rte. 118, 50% Of Original Contract Amount Earned.         7/9/19         whitej         0.25           0070         8051000A         SEEDING - COOL SEASON MIXTURES         Rte 118         7/9/19         whitej         8.26           0090         2071000         LINEAR GRADING CLASS 1         Rte. 118         7/2/19         whitej         49.15           0110         3049910         MISC.         Rte. 118, Eastbound and Westbound 4 Foot Aggregate Shoulder Shoulder Shoulder.         7/1/19         whitej         1,733.82           Rte. 118 Westbound 4 Foot Aggregate Shoulder.         Rte. 118 Foot Aggregate Shoulder.         7/2/19         Whitej         269.51	Line No.         Item Code         Description         Location         DWR Date         User ID         Oty         Unit           0020         2029907         MISC.         Rte. 118 Westbound         7/2/19         whitej         139.65         CUYD           Rte. 118 Various Locations Eastbound & Westbound         7/3/19         whitej         99.75         CUYD           0060         6181000         MOBILIZATION         Rte. 118, 50% Of Original Contract Amount Earned.         7/9/19         whitej         0.25         LS           0070         8051000A         SEEDING - COOL SEASON MIXTURES         Rte. 118, 50% Of Original Contract Amount Earned.         7/9/19         whitej         8.26         ACRE           0090         2071000         LINEAR GRADING CLASS 1         Rte. 118 Eastbound and Westbound Slopes         7/2/19         whitej         49.15         STA           0110         3049910         MISC.         Rte. 118, Eastbound and Eastbound and Westbound 4 Foot Aggregate Shoulder         7/1/19         whitej         1,733.82         TONS           Rte. 118         Westbound 4 Foot Aggregate Shoulder         Shoulders and Slopes         7/2/19         Whitej         269.51         TONS	No.   Code     Date   ID     Station / LogMile

Revision 02/05/2019 Page 6 of 6